20,000 stores in just 28 countries. We
pay bills online. We even buy homes
online these days you can even sell
your pets on oil excuses. Walmart is
currently building the world ‘s biggest.
Good Cloud, which will be able to
process two point five petabytes of
data every hour now. The reason
behind Walmart success is how the
user customer data to get useful
insights about customers shopping

\
patterns. Walmart found out that tesa.
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Walmart Uuses data in a very effective
manner the analyzer very well. They
process the data very well and they
find out the useful insights that they
need in order to get more customers or
improve their business. Netflix
analyzes the movie viewing patterns of
users to understand what drives user
interest and to see what users want to
watch.

There are actually many machine




